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Water Requirements of Crops
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m Conventional Questions ]

Solution : 1
Q = 11.703924 m®/s

Solution : 2
Evapotranspiration, C, = 34.1806 cm
FIR = 35.8163cm

Solution : 3

()  Gross storage for reservoir = 13.35 Mm3
(i) Full supply discharge = 66.47 cumec

Solution : 4
t = 39.06 minutes
A ax = 0.144 ha

Solution : 5
C,=34.16cm
FIR =35.8cm

Solution : 6

Q =4.595 cumecs
Solution : 9

105.93 Mm?3

Solution: 10

t 1
T]a = (%) X1OO

Solution : 11
(a) 0.08 0or8%
(b) 92.24%

(c) 31.97 minutes
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Design of Stable Channels
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m Conventional Questions ]

Solution : 1

fl’
R
Partical movement Constant
O R N L (0056)
T No partical movement
0.02-----=--=--==--m--- e —— 4
100 400 Reynold No.
Solution : 2
H, =0.0754 m
Solution : 3
0.389 N/m?

N

0.389 N/m? = 0.75y,RS

0.518 N/m? = 0.75 y,,RS

Solution : 5
390.70 tonnes per day

Solution : 6
C=16.81 x 10°% ppm

Solution : 7

Solution : 8
(@) Average boundary stress 1, = 2.918 N/m?
(b) Percentage saving in earthwork = 34.55%
Solution : 9

c =290 ppm
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Design and Construction of

Gravity Dams
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Solution : 1
g =329 x 10°® m¥/s/m

Solution : 3
F=1.63(Safe)

Solution : 4
11.11 years

Solution : 5
G, = 1586.66 kN/m?

toe

Opee = —49.2 kKN/m?

Solution : 6
Q., =25.14 md/s
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River Training and Diversion

Headworks
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Solution : 2
(i) 5 m mho/cm

(if) LF>=12.8%

Solution : 5
2.39 m below the ground.

Solution : 6
Not Safe.

Solution : 7
LR=6%
D, =85.1mm
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m Conventional Questions ]

Solution : 1
Inspection road FSL coal
H.FL of drain SR ——— RL 300.600 m
\ Vs — - Canal -7
R.L 300500 m R.L 300.000 m
XN
R.L 299.500 m
[ D/s sheet pile
R.L 299.400 m
<— 8.762 m —>
—> Q=1045m’H L 2m
Canal ' ! l
J l Q=6m H L
Drain
Solution : 5

1. Waterway for Barrage
Number of gates required for barrage = 15

2. Waterway for canal head regulator
Number of gates required for canal head regulator each of 10 m span =7.

3. Design of stilling basin
Level at which jump will form = 202.75m
Cisternat RL =202.75m

Solution : 7

0.17m
T 111
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